

ON MULTIPLE INTEGRALS FOR MEIJER'S G -FUNCTION

by G. S. OLKHA,* *Department of Mathematics, Govt. College,
Tonk (Rajasthan)*

(Communicated by P. L. Bhatnagar, F.N.A.)

(Received 26 August 1970)

The aim of this paper is to evaluate two multiple integrals involving product of Meijer's G -function. Since the G -function is quite general in character and many special functions appearing in applied mathematics follow as its particular cases, several other integrals involving products of different special functions can be obtained as special cases of our main integrals. The two multiple integrals involving products of modified Bessel functions of the second kind given by Ragab (1965), the generalized Watson function introduced by Bhatnagar (1953) and the integral involving product of two G -functions evaluated by Meijer (1941) follow as particular cases of our main results.

1. INTRODUCTION

Meijer's G -function (Erdélyi 1953, p. 207) has been defined and denoted as :

$$G_{p,q}^{m,n} \left[x \left| \begin{matrix} a_1, \dots, a_p \\ b_1, \dots, b_q \end{matrix} \right. \right] = G_{p,q}^{m,n} \left[x \left| \begin{matrix} a_p \\ b_q \end{matrix} \right. \right] \\ = \left(\frac{1}{2\pi i} \right) \int_L \frac{\prod_{j=1}^m \Gamma(b_j - s) \prod_{j=1}^n \Gamma(1 - a_j + s)}{\prod_{j=m+1}^q \Gamma(1 - b_j + s) \prod_{j=n+1}^p \Gamma(a_j - s)} x^s ds \quad \dots \quad (1.1)$$

where L is a suitable contour.

In what follows for the sake of brevity $a_{n_i} + \frac{k_i}{\sigma}$ stands for the $\sum_{i=1}^S n_i$ parameters: $a_{n_1} + \frac{k_1}{\sigma}, \dots, a_{n_S} + \frac{k_S}{\sigma}$; where $a_{n_1} + \frac{k_1}{\sigma}$ denotes n_1 parameters: $a_{1_1} + \frac{k_1}{\sigma}, \dots, a_{n_1} + \frac{k_1}{\sigma}$; $b_{m_i} + \frac{k_i}{\sigma}$ stands for the $\sum_{i=1}^S m_i$ parameters $b_{m_1} + \frac{k_1}{\sigma}, \dots, b_{m_S} + \frac{k_S}{\sigma}$; where $b_{m_1} + \frac{k_1}{\sigma}$ denotes m_1 parameters: $b_{1_1} + \frac{k_1}{\sigma}, \dots, b_{m_1} + \frac{k_1}{\sigma} \cdot \left(a_{n_i} + \frac{k_i}{\sigma}, a_{p_i} \right)$ stands for the $\sum_{i=1}^S (p_i - n_i)$ parameters: $\left(a_{n_{1+1}} + \frac{k_1}{\sigma}, \dots, a_{p_1} + \frac{k_1}{\sigma} \right), \dots, \left(a_{n_{S+1}} + \frac{k_S}{\sigma}, \dots, a_{p_S} + \frac{k_S}{\sigma} \right)$; $\left(b_{m_i} + \frac{k_i}{\sigma}, b_{q_i} \right)$ stands for the $\sum_{i=1}^S (q_i - n_i)$ parameters: $\left(b_{m_{1+1}} + \frac{k_1}{\sigma}, \dots, b_{q_1} + \frac{k_1}{\sigma} \right), \dots, \left(b_{m_{S+1}} + \frac{k_S}{\sigma}, \dots, b_{q_S} + \frac{k_S}{\sigma} \right)$. $1 - a_p$ and $1 - b_q$ stand for the p and q parameters: $1 - a_1, \dots, 1 - a_p$ and $1 - b_1, \dots, 1 - b_q$ respectively.

* *Present address*: Department of Mathematics, Govt. College, Karauli, Dist. Sawaimadhopur, Rajasthan.

2. INTEGRALS

Our main integrals are:

$$\prod_{r=1}^S \int_0^\infty x_r^{k_r-1} G_{p_r, q_r}^{m_r, n_r} \left[z x_r^\sigma \left| \begin{matrix} a_{p_r} \\ b_{q_r} \end{matrix} \right. \right] G_{p, q}^{m, n} \left[a y^\rho (x_1 \dots x_S)^\sigma \left| \begin{matrix} a_p \\ b_q \end{matrix} \right. \right] dx_r = \sigma^{-S} (z)^{-\left(\frac{1}{\sigma}\right)} \sum_{r=1}^S (k_r) \\ \times G_{P+q, Q+p}^{M+n, N+m} \left[\frac{z^S}{a y^\rho} \left| \begin{matrix} a_{n_i} + \frac{k_i}{\sigma}, 1-b_q, \left(a_{n_i} + \frac{k_i}{\sigma}, a_{p_i} \right) \\ b_{m_i} + \frac{k_i}{\sigma}, 1-a_p, \left(b_{m_i} + \frac{k_i}{\sigma}, b_{q_i} \right) \end{matrix} \right. \right] \dots \quad (2.1)$$

provided that

$$R(k_r + \sigma(b_j + b_i)) > 0 (j = 1_r, \dots, m_r (r = 1, \dots, S); i = 1, \dots, m); \\ R(k_r + \sigma(a_n + a_{n'} - 2)) < 0 (h = 1_r, \dots, n_r (r = 1, \dots, S); h' = 1, \dots, n); \\ |\arg z| < (m_r + n_r - 1/2 p_r - 1/2 q_r)\pi, (m_r + n_r - 1/2 p_r - 1/2 q_r) > 0; \\ |\arg a| < (m + n - 1/2 p - 1/2 q)\pi, (m + n - 1/2 p - 1/2 q) > 0;$$

M, N, P, Q stand for the quantities $\sum_{r=1}^S (m_r), \sum_{r=1}^S (n_r), \sum_{r=1}^S (p_r),$ and $\sum_{r=1}^S (q_r)$ respectively, S is a positive integer ($S = 1, 2, 3, \dots$), $k_r \geq 0$ for every value of r, y is real and positive, $\sigma > 0$ and $\rho > 0$.

$$\prod_{r=1}^S \int_0^\infty x_r^{k_r-1} G_{p_r, q_r}^{m_r, n_r} \left[z x_r^\sigma \left| \begin{matrix} a_{p_r} \\ b_{q_r} \end{matrix} \right. \right] G_{p, q}^{m, n} \left[\frac{a y^\rho}{(x_1 \dots x_S)^\sigma} \left| \begin{matrix} a_p \\ b_q \end{matrix} \right. \right] dx_r = \sigma^{-S} (z)^{-\left(\frac{1}{\sigma}\right)} \sum_{r=1}^S (k_r) \\ \times G_{P+p, Q+q}^{M+m, N+n} \left[z^S a y^\rho \left| \begin{matrix} a_{n_i} + \frac{k_i}{\sigma}, a_p, \left(a_{n_i} + \frac{k_i}{\sigma}, a_{p_i} \right) \\ b_{m_i} + \frac{k_i}{\sigma}, b_q, \left(b_{m_i} + \frac{k_i}{\sigma}, b_{q_i} \right) \end{matrix} \right. \right] \dots \quad (2.2)$$

provided that

$$R(k_r + \sigma(b_j - b_i)) > 0 (j = 1_r, \dots, m_r (r = 1, \dots, S); i = 1, \dots, m); \\ R(k_r + \sigma(a_n - a_{n'} - 2)) < 0 (h = 1_r, \dots, n_r (r = 1, \dots, S); h' = 1, \dots, n); \\ |\arg z| < (m_r + n_r - 1/2 p_r - 1/2 q_r)\pi, (m_r + n_r - 1/2 p_r - 1/2 q_r) > 0; \\ |\arg a| < (m + n - 1/2 p - 1/2 q)\pi, (m + n - 1/2 p - 1/2 q) > 0;$$

$S = 1, 2, 3, \dots; M, N, P, Q$ stand for the quantities defined in (2.1), $\sigma > 0, \rho > 0, k_r \geq 0$ for every value of r .

PROOF: Expanding the left-hand side of (2.1), we have

$$\int_0^\infty x_S^{k_S-1} G_{p_S, q_S}^{m_S, n_S} \left[z x_S^\sigma \left| \begin{matrix} a_{p_S} \\ b_{q_S} \end{matrix} \right. \right] \cdot \int_0^\infty x_{S-1}^{k_{S-1}-1} G_{p_{S-1}, q_{S-1}}^{m_{S-1}, n_{S-1}} \left[z x_{S-1}^\sigma \left| \begin{matrix} a_{p_{S-1}} \\ b_{q_{S-1}} \end{matrix} \right. \right] \\ \dots \int_0^\infty x_1^{k_1-1} G_{p_1, q_1}^{m_1, n_1} \left[z x_1^\sigma \left| \begin{matrix} a_{p_1} \\ b_{q_1} \end{matrix} \right. \right] \cdot G_{p, q}^{m, n} \left[a y^\rho (x_1 \dots x_S)^\sigma \left| \begin{matrix} a_p \\ b_q \end{matrix} \right. \right] dx_S \dots dx_1. \quad (2.3)$$

Now integrating the last integral with respect to x_1 with the help of the result given in Erdélyi (1954, p. 422 (14)) and substituting the result thus obtained in (2.3) and then integrating with respect to x_2 and so on. Repeating this procedure up to S -times, we arrive at the desired result.

The result (2.2) can be established similarly.

3. PARTICULAR CASES

(a) Taking

$$\begin{aligned}
 m_1 = m_2 = \dots = m_S = 2, \quad n_1 = n_2 = \dots = n_S = 0, \quad n = p = 0, \\
 a = z = 1/4, \quad q_1 = q_2 = \dots = q_S = 2, \quad p_1 = p_2 = \dots = p_S = 0, \\
 m = q = 2, \quad \rho = \sigma = 2, \quad b_{11} = \frac{\nu_1}{2}, \quad b_{12} = \frac{\nu_2}{2}, \dots, \quad b_{1S} = \frac{\nu_S}{2}, \quad b_1 = \frac{\mu}{2}, \\
 b_2 = -\frac{\mu}{2}, \quad b_{21} = -\frac{\nu_1}{2}, \quad b_{22} = -\frac{\nu_2}{2}, \dots, \quad b_{2S} = -\frac{\nu_S}{2}
 \end{aligned}$$

in (2.1) and (2.2) and using the results given in Erdélyi (1953, p. 216 (4)) and

$$\begin{aligned}
 G_{p,q}^{m,n} \left[x \left| \begin{matrix} a_p \\ b_q \end{matrix} \right. \right] &= \sum_{h=1}^n \frac{\prod_{j=m+1}^q \sin(a_h - b_j) \pi \pi^{m+n-q-1}}{\prod_{\substack{i=1 \\ i \neq h}}^n \sin(a_h - a_i) \pi} x^{a_h-1} \\
 &\times E \left[\begin{matrix} 1+b_1-a_h, \dots, 1+b_q-a_h \\ 1+a_1-a_h, \dots, 1+a_p-a_h \end{matrix}; (-1)^{m+n-q-1} x \right] \quad (3.1)
 \end{aligned}$$

respectively and then replacing S by $m-1$, we get the results:

$$\begin{aligned}
 \prod_{r=1}^{m-1} \int_0^\infty x_r^{k_r-1} K_{\nu_r}(x_r) dx_r \cdot K_\mu(y \cdot x_1 \dots x_{m-1}) &= 2^{r=1} \sum_{\mu, -\mu}^{\Sigma (k_r) - 2m + 1} \pi \sum_{\mu, -\mu} \left(\frac{1}{\sin \mu \pi} \right) \\
 \times (2^{2m-4} x^2)^{-\frac{\mu}{2}} E \left[\begin{matrix} k_1 \pm \nu_1 - \mu, \dots, k_{m-1} + \nu_{m-1} - \mu \\ 2 \end{matrix}; \frac{e^{\pm i \pi}}{(x^2 2^{2m-4})} \right] \dots \quad (3.2)
 \end{aligned}$$

provided that $R(k_r \pm \nu_r \pm \mu) > 0, r = 1, 2, \dots, m-1$, where $m = 2, 3, \dots, y$ is real and positive and the Σ means that the expression following it μ is to be replaced by $-\mu$ and the two expressions are then added; and

$$\begin{aligned}
 \prod_{r=1}^{m-1} \int_0^\infty x_r^{k_r-1} K_{\nu_r}(x_r) dx_r \cdot K_\mu \left(\frac{y}{x_1 \dots x_{m-1}} \right) &= 2^{r=1} \sum_{\mu, -\mu}^{\Sigma (k_r) - 2m + 1} \left(\frac{1}{2\pi} \right) \sum_{i, -i} (1/i) \\
 \times E \left[\begin{matrix} k_1 \pm \nu_1, \dots, k_{m-1} \pm \nu_{m-1}, \pm \frac{\mu}{2}, 1 \\ 2 \end{matrix}; \frac{e^{i \pi}}{2^{2m} x^2} \right] \dots \dots \dots \quad (3.3)
 \end{aligned}$$

where $m = 2, 3, \dots$ and Σ is same as defined above,

recently given by Ragab (1965).

Bhatnagar (1953) has given the generalization of Watson function $\tilde{\omega}_{\mu, \nu}(x)$ as:

$$\begin{aligned}
 \tilde{\omega}_{\mu_1, \dots, \mu_n}(x) &= \sqrt{x} \int_0^\infty \dots \int_0^\infty J_{\mu_1}(x_1) \cdot J_{\mu_2}(x_2) \dots J_{\mu_{n-1}}(x_{n-1}) \\
 &\times J_{\mu_n} \left(\frac{x}{x_1 \dots x_{n-1}} \right) \cdot (x_1 \dots x_{n-1})^{-1} dx_1 \dots dx_{n-1} \dots \quad (3.4)
 \end{aligned}$$

where $R(\mu_k + 1/2) \geq 0, k = 1, 2, \dots, n$ and μ 's may be permuted among themselves.

(b) Now if we take

$$\begin{aligned} m_1 = m_2 = \dots = m_S = 1, \quad n_1 = n_2 = \dots = n_S = 0, \quad n = p = 0, \\ a = z = 1/4, \quad q_1 = q_2 = \dots = q_S = 2, \quad p_1 = p_2 = \dots = p_S = 0, \quad m = 1, \\ q = 2, \quad \sigma = \rho = 2, \quad b_{11} = \frac{\mu_1}{2}, \quad b_{1_2} = \frac{\mu_2}{2}, \dots, \quad b_{1_S} = \frac{\mu_S}{2}, \\ b_{2_1} = -\frac{\mu_1}{2}, \quad b_{2_2} = -\frac{\mu_2}{2}, \dots, \quad b_{2_S} = -\frac{\mu_S}{2}, \quad b_1 = \frac{\mu}{2}, \quad b_2 = -\frac{\mu}{2}, \\ \text{and } k_r = 0 (r = 1, \dots, S), \end{aligned}$$

in (2.2) and use the result given in Erdélyi (1953, p. 216 (3)), we get

$$\begin{aligned} \prod_{r=1}^S \int_0^\infty x_r^{-1} J_{\mu_r}(x_r) J_\mu \left(\frac{y}{x_1 \dots x_S} \right) dx_r \\ = 2^{-S} G_{0, 2S+2}^{S+1, 0} \left[\frac{y^2}{2^{2S+2}} \left| \frac{\mu_1}{2}, \dots, \frac{\mu_S}{2}, \pm \frac{\mu}{2}, -\frac{\mu_1}{2}, \dots, -\frac{\mu_S}{2} \right. \right]. \quad \dots \quad (3.5) \end{aligned}$$

Now multiplying both the sides of (3.5) by \sqrt{x} , taking $S = n - 1$, replacing μ by μ_n , and then comparing (3.5) with (3.4), we have

$$\bar{\omega}_{\mu_1, \dots, \mu_n}(x) = 2^{1-n} \sqrt{x} G_{0, 2n}^{n, 0} \left[\frac{x^2}{2^{2n}} \left| \frac{\mu_1}{2}, \dots, -\frac{\mu_n}{2}, -\frac{\mu_1}{2}, \dots, -\frac{\mu_n}{2} \right. \right]. \quad (3.6)$$

a result which expresses the generalized Watson function in terms of Meijer's G -function.

(c) Lastly, if we take $S = 1, k_1 = 1, \sigma = \rho = 1$ and $y = 1$, then we get a well-known result given by Meijer (1941, p. 84, eqn. (17)).

ACKNOWLEDGEMENTS

The author is thankful to Prof. C. B. Rathie for his constant guidance and to Dr. K. C. Gupta for his valuable suggestions in the preparation of this paper.

REFERENCES

Bhatnagar, K. P. (1953). Two theorems on self-reciprocal functions and a new transform. *Bull. Calcutta math. Soc.*, **45**, 109-12.
 Erdélyi, A. (1953). Higher Transcendental Functions, Vol. I. McGraw-Hill Book Co., Inc., New York.
 ——— (1954). Tables of Integral Transforms, Vol. II. McGraw-Hill Book Co., Inc., New York.
 Meijer, C. S. (1941). Neue integraldarstellungen für Whittakersche Funktionen. *Ned. Akad. Wet.*, **44**, 81-92.
 Ragab, F. M. (1965). Multiple integrals involving products of modified Bessel functions of the second kind. *Circolo mat.*, **14**, ser. 2, 367-81.